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(a)

(a) Approximately. Overlap between surface and groundwater equals  nearly 100% of groundwater recharge; most of the groundwater is drained by the rivers and becomes the low
flow of water courses. The hydraulic system is very active in the south of Canada.
(b) OECD gives a value of 3472 km3 (Source: OECD. 2014. Water: Freshwater abstractions. OECD Environment Statistics (database).http://dx.doi.org/10.1787/data-00602-en.
Accessed on 20/01/2015)
(c) To USA. Outflow is 138.3 km3/yr with 71 km3/yr to Columbia, 67 to Alaska (Yukon) according to a national source (Morris 1970). It differs from the estimation of an American
source that gives: 180 km3/yr go to Alaska from Canada
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Computation of long-term annual renewable water resources (RWR) by country (in km³/year, average)
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